g2

15 15 EI’JT:T




14-2-2~14-2-3 HEEINAERAMEEZER

o =R
FEE—FHE b - SR ERE F B, 2 BEEER R — € (H 2a(a > 0) (YT ARGV ETE -

HI5% 2 PF, + PF, =2a » FF, < 2a i {/y%5 P #55% 2 i0E -

EHERE ARk RR AR

MEEIAVEEAER : a® >b* >0 a®=b*+c?

FAE O EFE()
L R € ) S € Ut U N O ) S O Y
a’ b? b’ a’
s (h,k) (h,k)
=t (h£ck) (h,k+c)
THEL (h+a,k) ~ (h,k+b) (h,k+a) ~ (h+b,k)
R x=h,y=k x=hy=k
Rl 2a 2a
LI 2b 2b
EEE i 2

a

2% N[EE

1824 8'(h,k+b)

©



W5[El ~ X

RAEE 9%* + 4y* —18x—16y —11= 0 fy ., ~ BEBERITHE AT R REIFIIE L & -

Ans:

2 2
S A T 2 (Xj) +(y‘92) 1 FAREE » & =907 = 4,62 =5

U By (1,2) o BB (1, 2+/5) - THEE (1,2+3),(1£2,2) B (15), (1-1),(3.2),(-1,2)

Bl 22=6 - AR =3

ERIEE £ —fE%h (5,3) - Kl ERIIEE (3,6),(30) - *KIELHEETFE -

Ans:

FRE i W TS (3,6), (3,0) FIFS-HuL (3,3) » b=3 - [bRy B N AIAYHEE]

2 2
BE L BB e = 2 > @ —bP4c?=13 » et O VY

9 13




CAI—HEEr 0 R (7,0) - —HEEE(4,0) - IE,’%B'ZZ%S—?O » SKILHEEDTRES -

Ans :

MRy (7,0) FIEERE (4,0) f5H1c =9 > /o5 RIHIHEE]

2
EEBE%@Z%%CJ: 22 » 80a=14b? > 40a=7b’

a’-b’=c*=9 » 7a’-7b*-63=0 » 7a°-40a-63=0 - (7a+9)(a-7)=0

2 2
a=—%($é\)gz7, AOXT=T07 » b2 =40 » st X LY g

49 40

. . (x=1)? +2)? . X -
et O L2 o 2 — ot o K i -
Ans
k-9>0
HiEEIERE > a®>b’°>0>{ 13-k>0 = Kk<9<13{Hk=11
k-9-13—k

2 2

SR eI ’2‘—5+1y—6 —13EEETE > HIEE(3,8) AR -

Ans :
FiE—
2

2
EEPF%%+I—6=1?%%D =9 > WFELEF,(-3,0),F,(3,0)

9 (3,8) BRI BLBEHER 2 /(3+3)7 + 8 +/(3-3)* +8° =10+18="2a

2 2
H5a=9 > b?=a’-c2=81-9=72 ’%jﬁﬁfﬁ%;—l+%=l

O



B

2

] N _ G
PRt > A TR P —]
25+k 16+k

. 9 64 . B
(3,8)ﬁj\m+m—1 9(16+ k) +64(25+ k) = (16 + k)(25+ k)

k?-32k—1344=0 > (k-56)(k+24)=0 > k=565 -24{X At

2

L Xy
Dk=56 > f5EITHERH—+=—==1
D EE TR BT

L XY
(Qk=-24 - TE%??EE@Z%T+—

e R

—WEEINI>—& 40cm > & 60cm BRI > KIELHEEIVIEELE -

e
N

\/

Ans:
ii] AAKE , 7B =) X2 yz
1 EEAME Tﬂ‘%ﬂlﬁt%%%"'m:l Ny
a=30,b=20 / \ 2
2h* 800 80 \ /
£ <« o oY
[ERSZ a 30 3

m BN

SKAIE] 25%° +16y° —32y —384 = 0fyrfuly ~ FEBGAMIEERIIEAR L -

—MWEEIFY L0 R - R 8 HEEH x il > IEAEZE 3 KBRS -

©



2

y

[ 1t _
= e 1K

LENIEE Ry Bl X BhAYARE > Kk AYEEE -

X2
+
+7

Kk

2 2
?@%:—9+Z—0 —13LEEEE - HREL(0,4) HUREE TR -
/"-_3”-5
HlE s —iEE TR ET o SRIHABEN L E - !)
T 6 EED
X2 2 X2 2 X2 2 2X . N
A HEET, :g% ~1-T, :?% —2.T, :?+§:€ HIERIES B > 6 03 S5F

NHIE—{E BT (R hEEY 7

(A) f1:f2:f3 (B) f]_:fz<f3 (C) f1<fz<f3 (D) f1:fg<fz (E) fl<f3<f2

Bl 7 [ 24 100]

PRI L - Bl C B R FRE -8R 2> EAIESR L BB CAHZC - 55 L B MRt
& — e A 2
X2 2

(A) x i (B)y=(%)x © ¥*+y*=3 (D) (x-2%+y*=16  (E) 3+y7=1

[ =41 100]

N Xy . .
= ?%:1 (Era>0) BEEE(3,0) 0 (-3,0) HUHEE : E, : HEE (3,0) AL

£ x =343 - EXIE, - E,fVCBIEEL R x=3 > Alla=




HE 100D  ERERO T2 - ERLES -

2 2
gm2. LY
6 16

c11>k>2

I
il
w

2 2

XY

25 16

NE

- (D)

1 (D) (B) HElHEr

I
il
N

N N
R &R
(@) Ul

iy
&
~

p2

NYJ|
v

925 8 - 3432

I

HE, y? =12x » ACBEE X =34 A+ 55| y =46
XZ y2

£ 5+ L LI (B0) » (-30) - §FIc=3 > a*-9-1’
a

R (3,6) + (3-6) BEASEI S

H(36)  (3-6) M A E SR 2~ 12- 28 D)

a2-6a-9=0- a=3+32 (&FL)

O



